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Daily Agenda
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I can calculate the probability of an event. &ﬁi Math a0/ SPEE(h 8o/ Spam% TS/
| can compare the experimental probability and theoretical > . .
probability of an event occurring. RS Math o7 SPEQCV\ 20 SPQ'\iSh S/

| can determine if an event is dependent or independent.
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| can calculate the probability of at least 1.

| can find conditional probability using contingency tables. tree ’P ( <pan)|
diagrams, or Venn diagrams. (
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Example Inaclass: P(male)=0.30 Example
P(brown hair) = 0.50 Freezy's Ice Cream Stand is testing out two new flavors, Birthday
P(male with brown hair) = 0.20 Cake and Dandy Cotton Candy. A poll conducted by Freezy's

showed that 32 customers liked Birthday Cake, 58 customers liked
Dandy Cotton Candy, 12 liked both flavors, and 22 liked neither

Draw a Venn Diagram and find each probability if one student is q
avor.

picked at random.
a. P(female) = 1

What is the probability that a customer selected at random would
like Dandy Cotton Candy?

) 2
b. P(male | brown hair) = '.?._-.Li

. : What is the probability that a customer selected at random would
¢. P(female | doesn't have brown hair) -—H—‘— Y like either Birthday Cake or Dandy Cotton Candy?
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Two Way Tables
There are a total of 96 children of ages 4, 5, 6.
« 37 of these children cannot swim.
« 11 four-year olds cannot swim.
« 21 five-year olds can swim.
« There are 30 six-year olds, 18 can swim

1. P(can swim) % Cj-?\‘k\\les ‘7_0\ 21 '8 ([39

2. P(four-year old | can't swim) No oy 12 137
y 2% 20 9k

3. P(can swim | six-yeg?old) 3’5 )
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